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| love six. | want to have six as often as possible. | wish everything
was Six.

+ Inventor of a transform that separates signals into their components (7)
2 (B) + (FOUR)IER = 6

* Monarch who ruled as king of France from 1560 until his death (7,2)

1 (A) * CHARLE(S IX) = 6

/ Hogwash (7)

6 (F) / BAL(ONE)Y = 6

* Device used to call people (9)

6 (F) * TELEPH(ONE) = 6

/ Paintings or drawings (7)

12 (L) / AR(TWO)RK = 6

- A famous play by Bertolt Brecht (10,5)

9 (I) — (THREE)PENNY OPERA = 6

- Vertical distances (7)

14 (N) - HEIGHT)S = 6

- By yourself (5)

7 (G) — AL(ONE) = 6

ANSWER: BAFFLING



